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(2) There are two sections in the question paper.

(3) ol (ool 635 Ul sl S,

(3) All the questions of both the sections are compulsory.

(¥) [ReRIT i $4 0 usdl 8. edsdl 1 d@ .

(4) Section-I includes 20 questions. Each question carries one mark.
(W) (eI M ga v uadl 8, 835 R 9L 8,

(5) Section-1II includes 15 questions. Each question carries two mark.
(g) €35 wsasll 02 20l AR [sedl AA s o WA sy S,

(6) Out of the four options given only one is correct.

SECTION - A : Q. 1 to 20 Multiple choice questions : (1 mark)
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1 A-umidl sl dlaa iR Alell ay a8 7

ZnCly, AlBr;, AICl; ¥4 SnCl,

Out of the following which Lewis acid is the most reactive ?
ZnCl,, AlBr;, AICl; and SnCl,

(A) AlBr;

(B) AICl,

(C) Zn(Cl,

(D) SnCly

2 sloflla Aol suesld 2 uBFudd s34 A uBAL sl ...
wa 8,
(A)  Ues19H
(B) llede
(C) llesl-
(D) uesigle
is obtained when Carbonyl compounds are reacted with alkene
triphenyl phosphorane
(A) Alkyne
(B) Alkane
(C) Alkene
(D) Alcohol

3 CN GeusHl sialui 2AH2s 2edlsiSsdl o =il 92 uBul as
o -SLOAsAL Bl va . 2 wBaL 58 © 7
(A) Hdsa uBul
B) dlea uBul
©) AlMs uBul
(D) S-S Asat uBul

When two molecules of aromatic aldehydes are reacted in presence of CN
catalyst o -hydroxy ketone is obtained. Which reaction is this ?

(A) Michael reaction
(B) Wittig reaction
(C) Mannich reaction

(D) Benzoin condensation reation
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To which group carbonyl group is converted in Wolff' Kishner reduction
reaction ?

(A) —CH,
(B) CH,

(C) >-CH

(D) None of these

5 2-elMleyeds [sidselr-lsnl sdl Yoo luw 5§ Hudl ?
(A) 2-042l+
B) 1:3qadl-
(C) 1-042l+
D) 1:2yadl-

Which major product will be obtained by dehydrohalogenation of 2-bromo
butane ?

(A) 2-butene
(B) 1 : 3 butadiene
(C) 1-butene

(D) 1 : 2 butadiene

6 BaBAd Y ...l 6.
The formula of Ketoketenes is
(A) CH,=C=0
B) R-CH=C=0
C) R,-C=C=0
(00
(D) R—C”—CH—R1
DF-3026_A | 3 [ Contd...



E, BalalHi ..o
(A) usild 9

(B) s6lAA

(C) 3s5d Has

(D)  swolllHaH 2

is formed in E; mechanism.

(A) Transition stage
(B) Carbanion
(C) Free radical

(D) Carbonium ion

A=Al AR u] 58 luw wagl ?

(A) 2-vRadd G-dlaElsl
(B) 4-vada G-odladlsl
(C) 7-3Rada S-dladlsl

(D) 3-vada G-dlaElsl

4 MuleL 2 €.

Which product will be obtained by the acetylation of benzothiophene ?

(A) 2-acetyl benzothiophene
(B) 4-acetyl benzothiophene
(C) 7-acetyl benzothiophene

(D) 3-acetyl benzothiophene
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9  [sa-lelldrl %0 ArAuRHL AUSAN A, 512 9 © 7
(A) R3sansdl
B) [s3uAsdl
(C) &g
(D) 3y A4l
What is the function of nitrobenzene in the Skraup’s synthesis of quinoline?
(A) reducing agent
(B) Oxidising agent
(C) Dehydrating agent

(D) None of these

10 2SAUsaAlA elHlRaq sl 4-60H) 2uSRAUsANA Ho &, 20 wBAL
$9 8 7

(A)  $asA vi-R10(l R uka
B) Fwiqr(l [y uBul
(C) $asA vi-R10(l fowella wBal
(D) Fwiqre(l Qatelle ubka

Isoquinoline on bromination forms 4-bromoisoquinoline. Which reation is
this ?

(A) Eletrophilic substitution reaction
(B) Nucleophilic substitution reaction
(C) Electrophilic addition reaction

(D) Nucleophilic addition reaction
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11 S50l 58 olgusly ueudl- Gelswl & 7
(A)  [Brav(la 20l daMd asly weudl
B) il UR AuMd Asly weudl
(C) el Asly el
(D) w(lu el AuMd A5l wendl
Hexacene is an example of which poly-nuclear system ?
(A) Non-linear ortho fused nuclear system
(B) Ortho peri fused nuclear system

(C) Isolated nuclear system

(D) Linear ortho fused nuclear system

12 1:2 Aol 520 2L ~CH, A3 e1ue 521 29 dl dell 342818
weild adl a3 ?

At which position of 1:2 benzanthracene, -CH; group should be introduced
so that its carcinogenic property can be increased ?

(A) 9,10
B) 4
€ 3
D) o

13 Uil Aranemi azziddl WBASHE 1:2 el ausdldsd a1l
oflo s4L uBUs auan © 7

(A)  -allsa-in
(B) &5l
(C)  NRAG-A[5A-AA
(D) Ao s

Which other reagent is used in the synthesis of pentacene as a starting
material along with 1:2 dimethylene cyclohexane ?

(A) Anthraquinone
(B) Hydroquinone
(C) Para benzoquinone

(D) Ortho benzoquinone

DF-3026_A | 6 [ Contd...



14

15

16

Bzl Asaueial nas dotssiml s4l WBds quan 8 7
Which reagent is used in the first stage of Killiani synthesis ?
(A) CH;NO,

(B) NH,OH

(C) Br, water

(D) HCN

~ ~

$5210 2ARL AU slol UM, HAL O, adl Al ............ USI9 A&
AU B,

Fructose contains three asymmetric carbon atoms. Therefore its
optical isomers are possible

(A) 9
B) 6
€) 12

(D) 8

0 A A 52 HUsH 5O ASAU-L Belewl © 7

(A) RyRaL - ReRia

B) Al ReyRidl - A RayRia

(©) Rz - 4 ReyRia

D) Al ReyRidl - RyRia

Glucose and fructose are the examples of which sugars respectively ?
(A) Reducing — reducing

(B) Non reducing — non-reducing

(C) reducing — non reducing

(D) non reducing — reducing
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17 Al 59 asud Maddad udll v Sl uglidl 59 [Bdlas
~¢{l?
(A)  HAASZASI
(B) ASASBADS
(C) l-Reykial
D) Rk
Methylation of which sugars of the following is not advisable by Pardie-
Irvine’s method ?
(A) Monosaccharides
(B) Disaccharides
(C) Non-reducing
(D) Reducing

18 U Mflel ayedl ol oy L.l AYS 812 &1 AR d ABA

Meflad Y s8a1d 8.
Methylene group is known as an active methylene group when it contains
group on both the side.

(A) —O-
B) >C=0
(C) -OH
(D) —CHj

19 ~llA-uniell s34 Al Aazudl sald © ?
Which of the following compounds shows tautomerism ?
(A) HCI
(B) HCOOH
(C) HCHO
(D) HCN

20  H-oltql s123la 5100 BA-Ola Agant u ol v Ay 8 7
(A) B2l @zu-dl Rl a8 ©
B) Ba-S-a ot 23Ul RAAL 48 &
(C) i AR udl el

(D) oS-l w@3u-l RAdL a8 8

What is the effect of the presence of hydrogen bonding on keto-enol
tautomerism ?

(A) the stability of keto form increases

(B) the stability of both keto and enol forms increases

(C) no effect

(D) the stability of enol form increases
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21 Al WBAi A A B 20av)

(i) cCl, /NaOH

(ii) Oxidation
(A A Ba B : Alufudls s
B) A Alulfadls i3 B : [B-la
C) A:[Bla B : Alxuedlsiss
(D) A : Alaedess B : [B-la

Identify A and B in the following reaction.

(i) cCl, /NaOH

(ii) Oxidation
(A) A : Phenol B : Salicylic acid
(B) A : Salicylic acid B : Phenol
(C) A : Phenol B : Salicyladehyde
(D) A : Salicylaldehyde B : Phenol

22 HlMs 6 elsladl HCHO A1 oflot s -l sl asiy ?
(A)  stollidla vt 2158
(B) stollla i AHIS
(C) swolllsudls 2 2183
(D) 3y A4l

Which other compounds can be used to prepare Mannich base along with
HCHO ?

(A) Carbonyl and amide
(B) Carbonyl and amine
(C) Carboxylic and amide

(D) None of these
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23 A sesld saddn B, [dlu- dai-l asididl Gddl sH3i dllsdl
CH,CH,CH,I, CH,CH,CH,Br, CH;CH,CH,CI

Arrange the following alkyl halides in a decreasing order of their possibility
towards E, elimination

CH;CH,CH,I, CH;CH,CH,Br, CH;CH,CH,Cl

(A) CH;CH,CH,I>CH;CH,CH,Br > CH;CH,CH,CI
(B) CH;CH,CH,Br > CH;CH,CH,Cl > CH;CH,CH,I
(C) CH;CH,CH,I>CH;CH,CH,Cl > CH;CH,CH,Br

(D) CH;CH,CH,Cl > CH,CH,CH,Br > CH;CH,CH,I

24 Al uBAML A 24 B 20,

50°C
(CH;).C-OH

CH;CH,CH,Br +(CH;)CO” A (o luy) +

B (ollel {lue)

Identify A and B in the following reaction

CH;CH,CH,Br + (CH3)C(_) (CHZ(;OCC—OH A (main product) +
B (minor product)
(B) A:CH _CH=CH, B:CH,CH,OCH,

A:CH,CH,CH,-0-C(CH B:CH _CH=CH
©) RS AR ( 3)3 . 2

(D) A:CH;-CH=CH, B: CH,CH,CH, -0~ C~(CH; ),
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25 Al wBAL A 219 Bell U 20

As2ae

Hr3le
HCN+HCI

ZHC12 /H3O

(A) A3 -UdH2 S-ld O 3 el
B) A2 -2 e © 2 $elR 9
(C) A :2-ud2 S-d O 2 edlelsy
D) A3 -ud2l e B : 3 sdlRl H3e

Give names of A and B in the following reaction

ool ov I ov

nitration

Indole
HCN+HC1

ZHCIZ/H3O
(A) A : 3 nitro indole B: indole 3 aldehyde
(B) A : 2 noitroindole B : 2-chloro indole
(C) A : 2 nitro indole B : indole 2 addehyde
(D) A : 3 nitro indole B : 3 chloro indole

26 Al WBAL A 241 Bl 29,

Pd/C el B
190°C

A [sa-ldl B : [sa-lledld 8-ues\Hs v
(B) A : [sa-dl B : [sa-lldld 6-uesiHs iR
€©) A :2SAsaddle B 2uSRsaAdl s-uesig xR

(D) A RN B suSAsa-leld 8-uesiHs iR
Identify A and B in the following reaction.

Pd/C Sulphonation . o
190°C

A : quinoline B : quinoline 8-sulphonic acid
(B) A : quinoline B : quinoline 6-sulphonic acid
(C) A : isoquinline B : isoquinoline S-sulphonic acid
(D) A : isoquinoline B : isoquinoline 8-sulphonic acid
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H, /Ni N auesais- B
A2 ) kMnOy
N

(A) A 35128150 [Ba-el
B) A :1:2:3:4 228153 (sa-ddl
(C) A 3128150 [Ba-el
(D) A 1:2:3:4 228153 [sa-el
Give names of A and B in the following reaction.

- [Fafs AR
- [Fafs AR
- sHls kg

B
B
B
B : (4A-ls 2R3

H, /Ni N alkaline B
Ae—=— ) kMnO,
N
(A) A : decahydroquinoline B : quinolinic acid
(B) A : 1:2:3:4 tetra hydroquinoline B : quinolinic acid
(C) A : decahydro quinoline B : nicotinic acid
(D) A : 1:2:3:4 tetra hydroquinoline B : nicotinic acid
28 <Al wBuML A i B vl
N i) AICI
A + 22l W ¢l B
(i) 48 H,S0,
(iii)) Zn—dust 700°C
(A) A Als AHAASISUSI B : el
B) A :uRFS AUSNDS B : Al
(C) A Alds AH-USIHIO3 B : Al
(D) A :uRFSs AAUBSND3 B : el
Identify A and B in the following reaction
A + tetralene (i) AICI; B
(ii) fuming H,SO,
(iii)) Zn—dust 700°C
(A) A : Phthalic anhydride B : Pentacene
(B) A : Succinic anhydride B : naphthacene
(C) A : Phthalic anhydride B : naphthacene
(D) A : succinic anhydride B : Pentacene
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29 Al uBAML AwA B g S ?
A @ HASs A ISILSE 2 B

sellR-ls
(i) 2zefl (AL1euda)
(2 avid WL s2dl)

(A) A wadlk B : SRl
B) A :Uddl B : S+
(C) A : SRAlA B : wyd-
D) A : SRl B : U3l

What are A and B in the following reaction ?
A (1) maleic anhydride

— B
and Chlorenil
(ii) heat (sodalime)

(reacting twice)
(A) A : Pyrene B : Coronene
(B) A : Perylene B : Coronene
(C) A : Coronene B : Pyrene
(D) A : Coronene B : Perylene

30 <Al uBAi A 31 B AL UM 2.

1, 3, 4, 5 22l-o-Madd g5l %)A; Kﬁiﬁj B
(A) A 345, 24-0-Hadd g5Ms U3 (0)
B : 23 24 Ballsu ogailRs vl
B) A Ll 211 Melllsu ogauRs 23
B : 3, 4, 5 2-0-Hada $520Ms U3
(C) A : BMada g-D-gsA158
B : Masda—0-1,3.4,5 2uMausdd ssalds
(D) A : Bauda-0-1,3.4,5 2Mnda, sl
B : Madd o-D- égamés

Give names of A and B in the following reaction
1, 3, 4, 5 tetra-o-methyl fructose

dilute A acidic KMnO 4

HNO3 © 0
oxidation
(A) A : 34,5, triO-methyl fructoronic acid
B : arabino trimethoxy glutaric acid
(B) A : arabino trimethoxy glutaric acid
B : 3, 4, 5 tri-O—-methyl fructoronic acid
(C) A : methyl o-D-fructoside
B : methyl-O-1,3,4,5 tetra methyl fructoside
(D) A : methyl-O-1,3,4,5 tetra methyl fructoside
B : methyl o -D-fructoside

DF-3026_A | 13 [ Contd...



31

D(+) 2484l D 2 (+) Al g sald 8,

(A)

(B)

©

(D)

D : e[381 eue(ly

(+) : Be@l ol C— wHIR, A A3Ae —OH Ay wHR(l oy

D : el oflon C— umig, Al A3de —OH Ays wuell ouy

(+) : elae amely

D : e[381 eue(ly

(+) : Be@l ol C— uHIY, A1) A3da —OH 31o{l 6y

D : el oflon C— umig, Al A3de —OH AHs el oy

() : el amely

What do D and (+) symbols show in D(+) glucose ?

(A)

(B)

©

(D)

D : dextrorotatory (+) : —OH group attached to last but one carbon

atom on the right side

D : —OH group attached to last but one carbon atom on the right side

(+) dextrorotatory

D : dextrorotatory (+) : —OH group attached to last but one carbon

atrom on the left side

D : —OH group attached to last but one carbon atom on the left side

(+) : dextrorotatory
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32 Al uBdl A 1 B A 290l

A .
LiA/Hy >B

(A) A
B) A
© A
D) A

LiA/Hy (Wdld4)

L oyed 1:3 31dla

Loy 1:2 314l

A

B osldlsu oylRAls e

B osldlsu oylRAls e

B
B
B
B

Identify A and B in the following reaction

AAE—
LiA/Hy

(A)
(B)
©

A
A
A

D) A

33 Al uBdl A 1 B A 20avl.

(A)

©

D) A:

A +B_NaOet__ barbituric acid

(A)

©
(D)

DF-3026_A |

A
B) A:
A

A
B) A:
A
A

LiA/Hy(Pyridine)

- Butane 1:3 diol

- Butane 1:2 diol

>B

B hydroxy butyric ester

B hydroxy butyric ester

A+ B_NaOet  elelayRs U3

C NS 2ieR
AAE
C NS 2ieR
AAE

. malonic ester
AAE
. Malonic ester
- AAE

B

B :
B : H,NCOOH
B :

T W ww

15

T =B W W

B osIdilsu eyledls vieer
B osIdilsu eyledls vieer
Loy 1:3 e

Loy 1:2 e

B hydroxy butyric ester

: B hydro butyric ester

- butane 1:3 diol

- Butane 1:2 diol

: H,NCONH,

H,NCONH,

H,NCOOH
Identify A and B in the following reaction

: H,NCONH,
: H,NCONH,
: H,NCOOH
: H,NCOOH
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34 1Al uBAML A v B L ML UM 2.

OH™ SN

2CH,CHO A B

(A) A o s[5 2ed81ds B o, B Ridud el
B) A o, B idu 2edeiss B : o SISAEA ued81Ss
(C©) A : B SIHAR vuedl8iss B o, gul LIS
D) A : o, B idu 2edeiss B : B e1dilsu uedlsisy

Give common names of A and B in the following reaction

OH heat

A B

2CH;CHO

(A) A : o hydroxy aldehye B : o, unsaturated aldehyde
(B) A : «,p unsaturated aldehyde B : o hydroxy aldehyde
(C) A : B hydroxy aldehyde B : o, unsaturated aldehyde

(D) A : «,pB unsaturated aldehyde B : [ hydroxy aldehyde

35 g—D °4sl» A B-D ogsln vasielld A8l s4L sHAL C-uHIG, A3
wisollongl xadl 3 € 7

By which number of carbon atom the isomeric forms o — ) glucose and

B—D glucose differ from each other ?
(A) G
B) G
© G
D) ¢
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